Summer, 2008 Dylan Zwick

Math2210 Quiz 6 (Sections 12.2-12.4)
Loic s nate SI/1/08

Instructions: Please show all of your work as parial credit will be given where appropriale. and there
may be no credil given for problems where there s no work shown, Al answers should be compleiely
simpiified, unless othenwise staled,

o the curve of interseciion of the surface

i (10 paints) find the slope of the tangent
| T ; 3,
s=—\ 9% + 9y 36 and the plone v=1 alihe goint (E,E.t;}
Yo cetsfend, 7o fup g
. , )
7 B g / A ‘E i > -
I [ (i5%) = X
S (N e AR NPy
LV Ty teig SV Txteqyt-3¢
)
P 7 ‘ B
_.,;i_,&m{?f,i-’i;: [(2) = Ly ~ [2]
3 v B ! - fj
a0 v T ey & N
ARV AT AR TN B RS
slope = 5
2. {5 points each] Find the limit (or show that it does not exist).
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4. {10 points) Find the equation of the tangeniplane to f flx, y)=y+25y -0 X' \
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